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Essential Question: How did the Treaty of Versailles impact Germany?

Document A: Excarpt from textboolk

Despite vepresentatives Fromn manierous countries, the mcchma" g J ov decisiomns were
hiunagered out by Y a growt known as the Big Four: Woodrow Wilsow of the ianited
Stotes, Geovges cLﬂmcmcau of France, Daviel L,Logal George of Grent Britain, and
vittorio Orlande of ta LU RAE5LH, Lia the gnp of civil war, was not |fgprgbgm,tgcl
elther were L,ﬂ?’mﬂv\ald fmo{ g atlies.. -

.. The diﬁﬁemmes bn Freweh, British, and l,a‘ ] LVVL_. Led to heated Arguments AuLong
the notion's leadeys. Flna LL:Cj a compmmu;e wm eaoﬁe&l The Treqty of versailles
between. Germany o the Allied powers was slgned om,_)wrue 28, 1919, ﬁ.vg Uga s to tlmz

.am/j afeer Frowz rers{uwm{ S asspssbnation tn smm Je\/o

.. The treaty also quiéh‘eol Germany. The defeated vﬁatiow Lost subsia w‘ci.ml'terrﬁ:ba@
and had severe restrictions 'Pbﬂcﬁd oM. its military ﬁQ’E&:”QtLOV\rz As ough as _
Pro\ll.swws were, the harshest was Articls 231t was also kwown ag the “war guLLc”
ctause. ttplaced cole FEb’PDlI\,;;LbLLLtEj Tor the war on Sermany)'s shoulders. Ag a vesult,
Germany had to pay V&PHFGI’CLDM,; to the Allies.

Source: World History: Patterns of fnteractran
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1. Based on your reading of the excerpt above, which of the fo[lowmg is true about the
: eﬂotiauons to end World War One?

{a) all of the participating countries were represented aqually

(b} delegates to the peace co nference had d1rchu.Ity agreeing an-the peace terms

{c) all countrias that Tought in World War One were held rpsponmble for the damage
caused by the war

{d¥~The Big Four hoped to Torm an alkance Wlth Germany

2. Based on the lnrormatlon presentad, WhICh coumry had the most reason to distike the
Treaty of Versailies?

(a) United States
{h) Russid

(c} France

(dj Germany

3. Which of the following documents best supports the following statement: “The
defeated nation 1ost substantial territory and had severe restrictions placed on its military
operations.” . ) -
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Yacument 8 Politicat artoor o the Traaty of varsailles
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Sourge: Retrieved ori January & 2011 from
-http://www historyonthenet.com/WwW/versailles.htm

4, What is the main message of the cartoon?
(a) Germany is being forcad o accept the-terms of tha Treaty of Versailles
(b) The peace terms were designed to help Germany recover from World War One
() The;fingérs gjn_the hand were trying to support Germany in her racovery )
(d) Russia was forced to accept the peace terms despite pulling out of World War One in
. 1937

5. Which of the following peace-terms is most iikely represented by the label "Worth
millions a Box' an the pill containers? . o
© {a).The ioss of substantial ferritory
(b) The severe restrictions on Germany’'s military operations
{=} The accentance of defeat
{d) The responsibility to pay war regarations ’
¥ ' ,
6 uysing information from botr Document A and Document B, which. “finger” was not
nart 5t the Big Four? :
‘ay Britain
by United States
j sapan
d) Francgé



Document C: Excerpt from Keynes

The [versailies] T ram"r_;j includes we provisions Tor the eeomonie vehabilitation. of
Europe, - nathing to walke the defeated Central Ewplres into good neighbors, nothing
tp stabilize the new States of Swrope. wothing te reclaim Russia; nor does it promote in
Gld WY 8 compaet of econoniie solidarity amongst the Allies themselves; wo
arrangement was reached at Pavic for restoring the disordered finances of France and
italy, or to adjust the systems of the Old world and the New....n & verl) short tie,
therefore, Cermany will not be a in @ position to give bread and work to her niwmerous
willions of inhabitants, who are prevented {rom earning their Livelihood by

navigation and trade.. Those who sigw this Trenty will sign the death sentence of

many millions of Cerman wen, wonen, and children

Source: John Maynard Keyhes’ The Fconomic Consequences of the Peoce, 1520

7. Keynes predicted the Treaty of Versailles would resuit in:
(a) the stabilization of Europe .
(b) improved relations between the United States and Germany
(c) negative consequences for Germany alone
(d} continued instability in Europe -

8. Kaynes' opinion on the Treaty of Versailies can best be described as:
(a) optimistic .
(b) undecided
(c) pessimistic
(d) hopeful

3. In connection with Document B, what advice would Keynes give to the Big Four?
(a) Make the ‘pill' bigger _
{b) The ‘pill’ will hurt mere than just Germany
(¢) The ‘pill" will solve Europe’s probler;ns
(d) Be sure the League of Nations also accepts the ‘pifl’



Document D, Map of Europe after World War Dne
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Source: The Choicgs Program — Weimar Germany and the Rise of Hitler

10. Which of the following areas voted to maintain their ties to Germany?
{a) Rhineland, Alsace-Lorraine, and Western Upper Sitesia
(b) Saar, Danzig, and Memel
{c) Western Upper Silesia, Southern Schieswig, and Marienwerder
{(d} Eastern Upper Silesia, Poznania, and Allenstein

11 Accdrding o this map, what did Paiand and France have in common aftar World War
One?
{a) they both lost land to Germany
{b) they both voted to be retained by Germany
{c) they both regained control of lands previously controlied by Germany
(d) they both were forced to demilitarize the border they shared with Germany

i2. Which of the following best describes the relationship betwean Document A and
Document D?

{a) Taking away German territory cost the country more than just land

(b) Germany was allowed to defend herself against neighboring countries

(¢} The land taken away from Germany was not valuable and therefore should not cause
Germany any distress 7

(d} Members of the Big Four were unaware how valuable the German iands were that
they took



Document E; Hyperinfiatior: i gostwar Germany
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Source: The Choices Program — Weimar Germany and the Rise of Hitler
j

13. Which of the time pericds balow saw the greatest increase igghe number of German
‘marks needed to buy one ounce of gold?~ + -~
¢a) January 1920 - September 1920
(b}, January 1923 - September1323
(c) Septemberi919 - lanuary1920 '
{d) September 1923 — October 1523

14 Based on the information above, which of the following best defines ‘inflation’?
(a)” A decrease in the cost of gold ’ '
{b) An increase in the value of money
(c) Anincrease in the value of the exchange
" fd) A decrease in the value of money '

15, Which of the following fines from a prior document best supports the information in
Document E7

{a) Document A—"The differences in rrﬁnch British, and U.5. aims led 10 heatad arduments
among the nation’s leaders.”
Document B— "You've Got to Swallow it Whether You Like It or Not!”
Document £ — "The Versailles Treaty includes no provisions for the aconomic
rehabititation of zurope...”

—
N
—

id) Document U: "Germany iost 42% o all iron production”
3 CTIoN.
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